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2 VAR SR R P 40 - 9 820,541 91,039 73,910 - 154,243 -
T M W T = 1 4 98,979 24,596 9,865 922 45,408 17,775
RO R E 5 - 6 181,545 44,402 31,765 3,040 209,128 41,881
BOWE HOT = 9 - 4 179,483 32,557 16,463 948 110,053 26,293
P E e E X B 3 - 8 108,107 30,398 10,171 594 107,181 34,059
FEW G E R EE - - 3 24,430 7,641 1,851 156 17,738 7,838
ELNCRR VIRV NI S - - 3 24,039 7,618 495 87 10,649 5,691
T s e 1 - 1 26,598 8,278 849 78 11,789 5,032
O 5 o [E ST R X A 3 - 8 120,116 32,408 18,021 - 187,042 69,378
5 o [E ST 2E L X E 1 - 6 63,727 21,067 * * % *
= B W = 14 - 14 415,179 89,873 42,195 7,211 670,891 221,785
= VAL el 2 - 3 40,859 15,606 * * 97,098 39,190
| B PR VA £ fE 2 - 15 274,028 64,577 46,565 4,494 536,231 262,794
B S 8 oA X E A 5 - 8 198,604 56,572 21,111 2,313 221,124 84,078
WE TR F—XE= - - 4 26,136 12,271 * * 40,882 21,711
WO W s E OB 14 - 45 570,467 124,330 172,268 - 853,009 183,061
W dsr P | X E - - 5 39,384 13,297 - - 9,319 2,939
[ i PR VARL SR S e 14 - 49 786,632 216,585 183,634 11,254 1,281,148 386,013
O el T VA £ fE 2 - 9 117,813 41,836 - - 313,168 129,055
[ Sl TR VA £ fE 1 - 6 69,714 28,222 - - 134,641 50,504
B kWS X 1 - 6 112,339 33,630 - - 127,955 51,741
BEE AR R X EE 12 - 21 422,310 124,444 110,644 10,087 738,504 293,957
BELEER AT X EE 1 - 4 70,483 23,986 * * 100,584 33,854
BEEEHLZNXESE 2 - 4 49,435 17,213 * * 87,169 36,938
b oo oo X OE R 18 - 40 462,130 119,880 27,017 - 731,060 220,606
B T 77 37 o [0 5 RS 4 2 - 3 66,308 21,074 2,441 - 90,898 34,393
B T 77 37 b o [0 5 2 45 A 2 - 3 58,944 18,729 1,382 - 71,157 20,641
W TS sE BT XOE A 4 - 30 151,675 24,044 23,693 - 408,810 58,907
Femooh T oz B I OE 2 - 8 102,234 38,431 6,176 - 132,771 37,369
b b osromE oA X OE R 4 - 24 248,748 58,869 31,758 - 830,099 244,924
el b oSz T4 OE 2 - 8 176,561 39,076 12,342 - 370,282 114,463
FMooh BB K EE 2 - 8 162,096 37,076 15,124 - 386,656 113,228
[ T T VA i U 1 2 - 7 112,540 51,341 10,366 - 265,339 85,460
e B TH AL IE K o B AR 6 - 24 486,217 69,958 27,192 - 600,267 181,665
B I T ST 3 K B X AR 2 - 8 128,264 46,852 8,329 - 178,605 68,326
Feomooh ool R X OE R 2 - 7 98,978 26,081 4,131 - 94,758 28,872
B od ST OBE X EE 7 - 7 237,597 76,286 47,971 10,974 538,625 176,572
BE HE S ORI X E AR 4 - 5 127,158 39,742 * * 200,117 71,327
BE AL TH ST BRI E R 6 - 21 293,999 62,321 121,877 5,476 654,526 258,177
JR B N2 B H L B 4 - 12 140,618 42,792 * * 232,642 75,198
B B oS [ E X OE AE 2 - 4 55,601 20,350 * * 69,404 29,534
BEESE B E S 8 21 265,947 82,148 57,473 5,756 420,384 150,465
L I TR VA N = 5 - 8 101,532 30,446 * * 138,305 58,972
I SRR VA LTI S 1 - 3 36,675 16,086 * * 34,894 19,246
Yoz RN B E fE 1 2 3 37,232 13,117 9,226 3,274 42,598 24,919
Bz O SRR R X E R 1 2 2 31,786 14,937 3,758 673 37,576 19,395
T S YA £ fE 5 - 11 272,073 79,833 20,600 2,730 372,908 132,558
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55 )11 T ST X fE 4G )1 S 3 - 11 130,092 38,101 15,409 2,472 210,931 118,613
I 1| I s VAR N =g 3 - 6 121,690 36,491 14,996 2,028 150,341 64,527
Il M3 o =g 8 - 15 333,809 94,992 78,155 6,416 584,579 289,780
= I SRR VAR N - R = 2 - 6 103,726 40,346 9,546 - 70,312 30,301
I M3 KR =g 3 - 9 185,100 65,462 8,929 1,675 178,570 6,997
2SR VR VAN SRS = i 10 - 19 391,470 112,010 43,360 - 573,651 237,672
=S e I TR VAR T | = i 2 - §) 106,331 35,852 10,329 - 185,575 71,799
L= S e I TRV S NINE = i 2 - §) 124,775 46,087 12,618 - 204,774 81,427
LS R VERVAR - i = fiE 3 - 7 149,788 55,009 15,272 - 204,438 94,848
2SI TRV i = i 1 - 5 63,510 25,257 3,886 - 42,303 22,485
W H W8S =g 3 - 14 219,721 72,460 69,915 5,778 380,908 168,411
R R TRRVARE Db =g 3 - 4 86,554 31,686 - - 147,504 75,276
N i I TRVAR S =g 4 - 6 166,793 57,075 34,980 2,714 275,832 126,610
WOV S E =g 2 - 6 101,281 30,634 - - 124,451 59,021
I /N SRRV B3 =g 27 - 25 346,120 72,453 23,400 4,085 665,026 133,018
I TRV = | = i 12 - 30 435,328 57,216 25,738 5,450 587,631 223,010
I N TR VAN £ A / / 7 67,133 19,191 6,872 1,260 157,174 59,209
I N TRV -] EOfE / / 7 64,478 19,070 7,337 1,491 189,843 77,973
IR /NI TRV T B = i / / 10 71,098 18,606 10,862 2,646 238,420 93,815
IS NI TRV L A / / 9 80,045 19,871 10,836 2,200 226,665 82,085
I /N R VARS = fE / / 10 86,803 20,990 12,176 2,416 246,333 90,746
N /N TR VA= =g / / 7 61,366 17,941 6,306 1,485 138,107 56,450
b NI FERVARCI I - =g / / 9 76,164 18,861 10,241 2,468 218,596 81,462
TS ILEYH X EEE / / 18 77,972 22,506 11,562 2,774 283,909 98,375
IR /N SR VAR | o =g / / 29 249,835 72,219 21,553 5,035 374,638 169,598
IR /NI TRV N ) = i 3 3 3 136,423 45,812 3,701 1,321 87,375 49,564
I A TRV - 1) = i / / 7 69,525 19,431 3,001 744 67,078 28,929
1 T O HE B = i / / 7 67,031 16,792 6,290 1,948 155,308 68,592
VIR A TRV | VAN EfE / / 10 129,279 30,022 7,434 1,552 141,989 43,687
b /N VAN TR EfE / / 7 75,896 26,123 3,222 923 57,631 23,949
s =, 8 = g / / 6 83,5611 21,643 3,394 612 65,144 20,713
b N TRRVARE - 112 =g 1 - 2 41,241 14,509 811 190 12,640 5,150
b N IRVA ) N | = 1 2 - 22,381 9,295 651 128 5,729 1,426
R TN oK B =g - 4 1 13,776 5,529 310 71 3,145 1,076
IR /N v VAR - 1| =g - 5 - 7,997 3,072 68 14 677 147
15 KA T S R 8 T BT X E AR = - 9 36,046 14,666 4,439 1,678 172,419 86,534
BT /N VAR - G £ = i / / 11 50,232 15,803 2,914 714 297,481 129,899
) R CL= I ERVA A 3 - 3 101,688 23,246 13,400 594 68,531 24,921
woE R S Ak o F = - 3 34,752 12,591 5,925 123 34,338 11,462
[ A B YA A = - 4 77,114 25,688 - - 55,492 24,245
¥y HT ST = fE - - 2 29,968 13,299 6,106 434 30,796 12,370
[ E L= | R VA = fE 1 1 3 26,431 9,193 2,504 - 15,098 6,099
& F W7 ST = fE 4 1 11 124,091 30,835 15,386 3,461 332,751 126,545
- B N 1 VA = fE 2 1 3 62,467 20,574 14,237 920 81,210 41,123
£ R B K = fE 3 - 6 152,241 51,341 12,753 - 238,172 116,708
sl HTOSE EC = - 4 111,896 26,013 17,577 675 49,838 23,668
A I RV EC 4 1 8 122,688 32,950 37,870 2,939 209,663 78,418
& BT AT EOfE 2 - 3 85,559 28,225 9,707 1,069 75,885 38,054
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